06936 &R F R MA B EIBERIEE

7= miiEA

M
EFEXH A RBEMERMRT |, WIEBRIEEE,
EEE , 85,

g
MEBHER 26,
85, RS LA,

B
EFHABHIEZEERTT ENEEE, BHTE2RESNNAAE
LR, IRFFRE,

A :

EHEZE,

—-
/0

AN |
T
—
@ i \‘3»5
J8
(@

06936-2001 BARE 200 115 20 M8x30 55,5 230 800
06936-2501 BAE 250 115 20 M8x30 55,5 280 800
06936-3001 BARE 300 115 20 M8x30 55,5 330 800
06936-3501 BAE 350 115 20 M8x30 55,5 380 800
06936-4001 BAE 400 115 20 M8x30 55,5 430 800
06936-2002 2E 200 115 20 M8x30 55,5 230 800
06936-2502 226G 250 115 20 M8x30 55,5 280 800
06936-3002 Z2E 300 115 20 M8x30 55,5 330 800
06936-3502 E2E 350 115 20 M8x30 55,5 380 800
06936-4002 E2E 400 115 20 M8x30 55,5 430 800

© norelem www.norelem.com




06936 i 2R F AR N B HEREF

© norelem www.norelem.com



